
w 
__J 
::, 
C, 
w 
:,: 
u 
V) 

__J 
<C 
a: 

::, 
a: 
>--
V) 

I 

--------------------------------1 oo· -o" ----------------------------------

f-----1 0' -0" �i------------------ (9) 1 0' -0" BAYS ----------------------i

----- __ ! �®----.....l(l.::;GU::.Ji!;::o_;;· 2-:;;0:.... _____ 
1 

____ ,....1m:,::GU::1:!;;::.o',;;:2:;;:,0:..._ ____ 
1 
_____ .,1:(l::::GU�l:!:::,o·;;:2-;;::0 _____ 

1 
_____ .1:.:;::i;::.�----------= I I I I 

fTGUl!o• 2.0 I ,,,,, ,i1· 2.0 

I I 
El� "'

o. 

lo-
Io_ 

r-rJ L{) 

-

I 
I 

------1----H 
I 

I 
I 
I
I
I 
I 
I 
I 

ID-------� 
----1il1f--+---+---+�l-+---+---+-'--+----,f--+--+---+---+--+--+--f--+--+----c--+---+--+--f--+--+----+--;--+--+--f---;-+--+----+---+--+--f--+

� . -.-----J 
I 
I 
I 

g ·' I 
i---

-- --
-i---

-- -- --

I I 

I 
-- -- -- ,--- --

-i---
---- ---- -- --

I I ii! I i -+--+----,f-L-+--+----+-�-+--+----,f--+--+----+---+�-+--f--+-�+----+---+--+--f--+--+-�--+---+--+-�f--+--+----+--+--+---+

� I- - - - µ 

I I I 
I I I 

I I 
I I -

I 
I 

I 

I 
I 

I 

I I 
I I 
I I 

I I 
I I 
I I 

� 
"! 
9 

ID 
'L---
e 

� 

-

� 
"!'
9 

-

} IE (TGUJ
f

a'-2-0 
I 

(TGU)
f
"-2.0 

I 
(TGU)

f
0'-2-0 

I 
(TGLI)

f
O' -2.0 

I 
(IGU)

f
"-2.0 El} 

L 1 o· -o" ----------------(9) 1 o'-o" BAYS---------------

I -

A� BLDG A 
7Pci� KEY PLAN 

SCALE 1/8"=1'-0"

l�_G_EN_E_RA_L_ N_O_TE_ S  _______________________________________________________________ �I �I __ D_RA _W_IN _G _C_O _NT_E _NT_S ______________ �I

I' 
C4 -
C6 -

-

-

i-H -
JR -

r ---

1 - IT IS THE RESPONSIBILllY OF THE BUILDER/CONTRACTOR TO INSURE THAT ALL PROJECT PLANS AND SPECIFICATIONS COMPLY WITH 
THE APPLICABLE REQUIREMENTS OF />Nf GOVERNING BUILDING AUTHORITIES. 

2 - METAL BUILDING STIRUCTURE DESIGNED PER THE FOLLOWING LOADING 

IBC 2000 
90 MPH EXPOSURE B WINDLOAD 
20 PSF ROOF UVE LOAD 
SEISMIC DATA-ZONE 1 
20 PSF (MAX) GROUND SNOW LOAD 

3 - BUILDING MANUFACTURE ASSUMES NO RESPONSIBILllY FOR />Nf LOADS TO STRUCTURE NOT INDICATED AT THE TIME OF PURCHASE. 
ANY ALTERATIONS TO THE STRUCTURAL SYSTEM, REMOVAL OF ANY COMPONENT PARTS OR THE ADDITION OF OTHER CONSTRUCTION 
MATERIALS OR LOADS MUST BE DONE UNDER THE DIRECTION OF REGISTERED ARCHITECT, CML OR STRUCTURAL ENGINEER. 

4 - LOADS DESIGNATED WITHIN CONTRACT SPECIFlCATIONS DO NOT ALLOW FOR ANY lYPE OF SUSPENDED SYSTEM (E.G. LIGHTS, INSULATION, 
DUCT WORK, PIPING, ETC.) SUSPENSION OF />Nf LOAD INDUCING SYSTEt.t IS EXPLICITLY PROHIBITIED UNLESS A CORRESPONDING REDUCTION 
IN CERTIFIED LIVE/SNOW LOADS CAN BE PERMITTIED BY CODE. 

11431 BR 4 X 3 X HIGA. ANGLE (8.9) 
U4�16R 4 1/a X 2 7/8 X 166A. C�NNEL (9,9) 
C.21 BR 4 X 2 X 16GA. CEE (a.i
C62516R 6 X 2 1/2 X 111G,\. C (11.9} 
C4218R 4 X 2 X 113GA. CEE (a.� 
C43!'1°' 4 K 3 'f2 K ''°' C £1.:l. 
U4251BR 4 1/8 2 7/B X 18GA. EL (9.9) 
E&4316R�J lC 8 lC 4 lC HIGA STRUT (13.9) 
,S liWIU RED 
C4216R 4 X 2 X 1eGA CEE J&.�B4216R 4 X 2 X HIGA. ANG ( .9) 
C4216R 4 X 2 X 16GA. CEE (&.� C62518R 8 X 2 1/2 X 111G,l C (11.9} 
C124115R 12 X 4 X 161.\. CEE �� B4218R 4 X 2 X 2 1/2 16GA. (5.9) 
Z42516R 2 1/2 X 4 X 2 1/1 X 16GA. ZEE rgi 
Z82518R 2 1/2 )( 8 lC 2 1/2 X ISGA. ZEE 11. l
Z82516R 2 1/2 X 8 X 2 � X 16GA. ZEE 13.9 
B4216R 4 X 2 X 16GA. AN 

tt!t 8421 &R 4 X 2 X 16GA. ANGLE 5.9 
E64J18R-/O J lC 8 X 4 lC 1 RUT (13.9) 

-
-
-
-
-
-

-
-
-
-
-
-
-

-
-
-

FLOOR BASE ANGLE 
FLOOR BASE CIWINEL 
4• COI.LliN 
5• COl.lliN 
OOOR OEAD 
DOOR JMIB 
EAVE �NB. 
£NIE S1RI/F" 
fL00R CUP 
ORr 
HALl TOP ANGLE 
DOOR l£AD REH=ORCEMENT 
...,, ..,.. 
IUlJCN 
YNI CLP 
ROOF PURL.JI 
ROOF �LIi 
ROOF PURL.JI 
PARTlllON AHGI..E 
RN<E�GL.E 
RIDGE STRUT 

w 
__J 
::, 
C) 
w 
:,: 
u 
V) 

"" 
z

� 
w 
:,: 
V) 

1- 290,. M-LOC WALL PANEL 
R - 29GA. R-LOC WAl.1 PANEL 
P - 29GA. PANEL-LDC WM.l. PANEL
PR - 29GA. R PNEL WALL PANB.. 
RR - 26GA. PBR ROOF PHIB..

- 260,. PBR WAil PANEL 

5 - BUILDING MANUFACTURER ASSUMES NO RESPONSIBILllY FOR CONCRETIE SLAB FOUNDATION DESIGN, THICKNESS OR MATIERIAL RATING, 
SITE SOIL CONDITTONS OR OTHER CONCRETE/MASONRY CONSTRUCTION. 

13- DETAILS SHOWN HEREIN SHALL BE INCORPORATED INTO PROJECT, WHETHER OR NOT SPECIFICALLY REFERENCED FOR ALL LOCATIONS. K01 - KEY PLAN, GENERAL NOTES, ROOF SHmNG PLAN, ROOF TIRIM PLAN 
E01 - EXTERIOR WALL ELEVATIONS, DOOR SCHEDULE, WALL SHEETING PLAN, WALL TIRIM PLAN 
D01 - SLAB PLAN, DETAILS 
D02 - BASE STIEEL PLAN, DETAILS 6 - BASE STEEL TO CONCRETE SLAB ANCHOR DESIGN AND SPECIFICATION ARE NOT THE RESPONSIBILITY OF THE BUILDING MANUFACTURER. 

7 - ALL CONCRETE AND MASONRY CONSTRUCTION MUST BE FILAT, LEVEL AND SQUARE PER THE SLAB PLAN DIMENSIONS HEREIN. 

14- ALL TEMPORARY SUPPORTS SUCH AS GUYS, BRACES, FALSEWORK, CRIBBING. WINDBRACES OR OTHER ELEMENTS REQUIRED FOR THE
BUILDING ERECTION ARE TO BE DETERMINED BY AND SUPPLIED BY BUILDER/CONTRACTOR.

15- BUILDING MANUFACTURER HAS MADE A COMMITMENT TO MANUFACTURE QUALllY BUILDING COMPONENTS THAT CAN BE SAFELY ERECTIED.
D03 - FRAMING PLAN, COLUMN SCHEDULE, GIRT LOCATIONS, DOOR JAMB LOCATIONS, DOOR HEADER LOCATIONS, DETAILS 
D04 - PARTITION PLAN, DOOR LOCATIONS, DETAILS 

JOB SITE SAFETY INSTRUCTION, SAFETY EQUIPMENT AND CONOITTONS ARE THE RESPONSIBILllY OF THE BUILDER/CONTRACTOR. D05 - ROOF PLAN, DETAILS 

B - ALL STRUCTURAL CONNECTIONS ARE TO BE MADE PER FASTENING DETAILS PRESENTED HEREIN. ALL STIEEL FRAMING AND SHmNG 
MATER,\LS MUST BE INSTALLED TO VERTICAL PLUMB AND HORIZONTALLY LEVEL 

DOS - SHEET ATTACHMENT GUIDE, DETAILS 

9 - ALL JOBSITIE DIMENSIONS AND CONDITIONS SHALL BE FIELD VERIFlED BEFORE ERECTION OF BUILDING STRUCTURE. 

10- ALL OMISSIONS, CONFlLICTS AND DISCREPANCIES SHALL BE REPORTED TO THE BUILDING MANUFACTURER BEFORE PROCEEDING WITH
PROJECT WORK.

11- FlELD CUTTING OF STRUCTURAL, SHEETING AND TRIMS FOR SPLICE AND FINAL FITTING OF COMPONENTS IS REQUIRED.

12- ALL ROOF PANEL LAPS SHALL BE SEALED WITH 3/8" (MINIMUM) WIDTH MASTIC TAPE AS PROVIDED FOR PROJECT. ALL SHEET PROFILE
FOAM CLOSURES AT EAVE, WALL AND RIDGE CONDITTONS AS PROVIDED FOR PROJECT MUST BE INSTALLED AS SHOWN HEREIN.

F1 - CONC. EXP. ANCHOR (SIZE BY CUSTOMER) - BASE TO SI.AB CONr£CTIONS BlR) 

16- ALL COMPONENTS SHIPPED SHALL BE THOROUGHLY INSPECTIED AND ACCOUNTIED FOR AT THE TIME OF DELIVERY. ALL MATERIAL SHORTAGES
OR DEFECTS MUST BE REPORTED WITHIN FlVE (5) WORKING DAYS OF MATIERIAL DELMERY TO THE BUILDING MANUFACTURER.

17- D,\PHRAGM ACTION OF THE METAL PANELS AT INTERIOR PARTITION WALLS IS UTILIZED FOR THE STAIBILITY OF THIS BUILDING. ANY
MODIFICATION OR UNAUTHORIZED CUTTING OF INTERIOR PARTITION PANELS IS EXPRESSLY PROHIBITED BY THE MANUFACTURER.

18- WALL PANELS AND WALL TRIMS, INTERIOR AND EXTERIOR TO BE SET WITH 1/4" CLEARANCE ABOVE CONCRETE SURFACES AND AT ANY
LOCATIONS WHICH MAY BE SUBJECT TO CONTACT WITH STANDING WATER.

- 1• RCtl. MASTIC - INSIDE CORNER BOX
F2 - 12 x 1 so U'ml - SlRUCTURAL STEEL CONNECTIONS CUN) - R PANEL INSOE FOAM CLOSURE LOW RIB INSIDE CORNER TRlt
FJ - 12 X 1 SD TEK PLTD PARTITION SHEETING Ct.oil!) -
F4 w 
F5 __J 

::, F6 C, F7 w 
:,: F8 
u Fll 
V) F10 

F11 a: F12 w 
z m
w F14 

� 
F15
F16 

- 12 X 2 SD TEK PLTD 
- 12 x 1 1/4 ER 

t ZAl<ltol - 12 X 1 1/4 WASHER ID< OR ZAI< PTI) (F'llD) 
- 12 X 1 1/4 WASHER TEI< OR ZAIC PTO 
_ 14 x 7 /!, WASHER TEITR ZAKrTD� 
- 14 X 7/8 WASHER TEK OR ZAK PTD (Pl.TD) 
- 14 X 7/8 WASHER TEK OR ZAK PTO 
- 1 /8 POP RIVET 
- 12 X 1 1/4 YL'ISHER TEK

l°
R ZAJ<

,
PTD� - 12 X 1 1/4 WASHER TEK OR ZAK PTO 

- 14 X 7 /8 WASHER TEI<
! 
0 

ZAK!! l - 14 X ;:fr!' WASHER TEK OR ZAK PTO (Pl.TD) 
- 1/8 RIVET 

PARTITION ANGLE CO�ECTIONS 
- EXTERIDR WALL SHEETING 
- ROOF SHEEflNG
- EXTERIOR TRIM DRILLER L,J 

__J - EXTERIOR WALL PAt£L LAP ::, 
- ROOF PANEL LiP C, 
- INTERIOR TRIM LAP w 
- EXTERIOR TRIM :,: 

INTERIOR WALL SHEETING u 

INTERIOR TRIM DRILLER
- INTERIOR WALL PANEL LAP ::,; 
- INTERIOR TRIM LAP 1r 
- INTERIOR lRIM >--

R P>NEL OllTSIDE FQIM CLOSURE 
GEOCEL) - GUTTER SEflL 

I) - R PINEL INSIJE CORNER TRIM 

� 
- R PANEL OUTSIDE CORNER TRIM
- DOOR CORNER MULLION 
- DOWNSPOUT WITH KICK OUT 

ss) - DOWNSPOUT STRAP
- EAVE FLASHING 

FORMED RIOGE CN'
GUTTER END CAP 
GUTTER HANGER S1RAP 

- POST HJNG GUTTER 
- COOR HEAD COVER 
- DOOR HEAD TRII 
- HIGH fA\IE TRIM 

DOOR JAMB TRIM
DOOR JAMB CAP 

- LOW RIB HEAD AND JAMB TRIM 
- DOOR MUWON CMR TRIM 
- LOW RIB OUTSIDE CORNER TRIM 
- OUTSIDE CORNER BOX 
- PEAK BOX 
- RAKE TRIM ENO CAP

RAl<E TRIM 
HAU. TOP TRIM 
ROOF TIE IN TillM 

- ROOF STEP TIWISmON FlASHNG 
- 401. TOUCH UP SPRAY PAINT

1111 

Self-Storage Systems 

1652 S Lee Hwy, Cleveland, TN 37311
(800) 728-4010

www.bestbuymetals.com

NEW STORAGE BUILDING PROJECT FOR: 

ProJ-- NOT FOR CONSTRUCTION 

cuslomer-- PRECONSTRUCTION REVIEW DRAWINGS 

draft-ink 
:p.o. bu: 148118 ■prm#lald, :mo. 88814.-0BBB 

41.T.88?.01.61. fax..883.3064 

dr� .... 
I

ohl<4 ..... 
1VP 01.01.04 : 

sheet of 

KOl-01 

Best Buy Metals




